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:@-z~@kﬂp 2k)(p — (2k = 1)) -+ (p— 2)(p — 1))
zz(2k0!(—1)2k(2k).::((2k))

O00eOd (e—1)?<p<e?000000D0O0
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O0.00000n#00n=wp' - py’ (w==1, p;, 00000000e¢; >0) 0
(DDDDDD)DDDDDDD

00000 Zi}O0ooooooooooooooo

00. PeZ[0OZ[4{-00 < POOOOPO zy00000 = PO 000 yO



000000000000 0OReP, >0, ImP >0
(00o00O0oooooooon)
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OOe; >0)0 (0000DO)0000DOOO

000000 a+yi— z—yi0 pO000000 Z[E 00000 QG) = {a—+bi |
a,beQ}00000000 QU —COidO p00O0O0O0O0O0
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0OnO00
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00 peZCZHOOODOOOO p=wP{---P; 00000000000
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w=4+1000w=4+i000 Nw)=100N(P;)>100000000 N(Pj) =
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j=1

g=1,e1=1, f1 =2
g=1,e1=2, fi=1
g=2,e1=e3=fr=fa=1
O0000000000000000 p0 ZE000000000000000OO
Fermat 00 0000000000p=1 (mod4) = p=22+y>0000p=1
(mod 4) 0000000000000 ¢#¥ =—-1(modp) 00 ¢teZO0O0O000OO
?4+1=pm, mcZOOOODOOOO pm=(t+i)(t—4) 0000
D0000D000p00000000000000000000g=1,e;=1, fi=2
000000 p=wP, 0000000000000 w=1,p=P, 000000 Z[]0
000000000000 ¢t+40¢—+0p0000000000000000000
oo ¢z ooonooooooo
O0g=1 e =2, i =1000¢g=2,¢; = f;, =10000000 p =
wP P, (PL=P,000)00000000000000000 N(P)=p000000O
0P =x+yi0000p=N(@x+yi)=2>+y20000 O
p=0,2 (mod 4) 000000 20000000002=—i(14+4)20000 1440
Z[H-00O0O0000D00000000000000000

pmodd] ¢ | f; | ¢ 0000 oooo
0 — - == —
1 1| 1|2 |p=wPP, N(P))=p|513,17--
2 2 1 |1 |p=wP? NP)=p |2
3 1| 2|1 |p=wP, NP)=p> |3,711---
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Pt = N(p) :N(wPfl ...Pgeg) =p= N(Pl)el

g
D0n=)Y ¢f;000000¢g<n00000

Jj=1

N(Pg)eg _ p€1f1+“‘+egfg

0000 OOx00000000DOO00D0O00DODOoDOOo0ooooooooo
0O 0000000000000 0O0ODO0O0000000D0O0OoO0

00.00peZCOxOp=wP?---P; 000000000000

e = - =

NS

00 j0000e;>1000000p0 K/QOOOOOOODOD
g=1,e,=n, 4 =1000000p0 K/QOOOOODOOOODOO
e,=1000000p0 K/QOOOOODDODOOOO
—n,e;=1, f;=1000000p0 K/QUDODOOOOOOOOD

(ni=en 0000K:=Q(,)000000000 O =2Z[¢]0000¢ =400
0000000 ZE0000000000000000r=70000000Q(¢7)/QD0
000 p000000000 mod70000000

pmod7| e | fi | g |ODO0OO oood
0 6 1 |1 |p=wPf NPj)=p 7
2 1 3 2 |p=wP Py, N(Pj)=p* 2,23,
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¢g00000OO
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1+2(¢+¢?+¢H0000 K=Q(a) O

a® = (1+2¢ +2¢% +2¢*)?
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ClK(m) = IK(m)/PK(m)

gaoo

00. HCClg(m)0ODOOOOOO000000000000 K(m,H)/KOOODOODO
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00000

p=2>-8 0000 < K(m)/QO pO00O0O00O

10



p=a>—-8 0000
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ooooo
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0000V :={zeclF|00000,000002"=1}00000 F2>=F,(V)DO
000000000000
O000Galois000000000O00

{F|F,cFcCFO0OO }
{H|HC Gal(F2*/F) 00000 }

0000000000000 00 FO HOOOODOOOODOO Gal(F/F,) =
Gal(F2*/F)/HODODOOODO [F:F,] =[Gal(F2*/F): H| 0000000000

A:={F|F,CFCF® [F:F,] < oo}

q )

B:={H | H C Gal(F3*/F) 0 0000 0[Gal(F2"/F) : H] < oo}

00000000000000000000 A={Fx|0<n€Z}0000

D00D00000 ZO00D00000000000000000 C:={nZ|n>0}00
00000 A0 COOODOODOOO Fe—nZO0OOODOODOODOOODOOOOOO
00000¢: Fa°* — F2* 0 ¢(z) :=2¢00000 ¢ € Gal(F2*/F,) 0000000
0000000 p: Z— Gal(F2*/F,) 0 p(m) :=¢™ 00000n>00000000
0000000 r: Gal(F2P/F) — Gal(F»/F) 000000000000 rop: Z —
Gal(F;»/F)DO00D0 ker(rop)=nZ 000000 p00 Z/nZ = Gal(Fg» /F) 00O
ooo

D000000000000O00oon

{F/F,|OD000OO }
{Hcz|ooooooo '}

D00000D000000FO0 HOOODOOODOOOO p0000000 Gal(Fy/F) =
Z/nz0000000000000 p: Z— Gal(Fa*/F,) 000 Gal(Fa*/F,) 0000
O000ZOOODOOOOOZO Galeis0OODO0OODO0OOO0DO0DOOO0O
00000000 K/Q, 0000000000000 0D000000000N00n
0 p: KX — Gal(K**/K)0DOODOOGal(K*/K)0DOODO KX0O000D00000
000000000 L/KOOOO r: Gal(K**/K) — Gal(L/K)ODODOOO000O
O0OropO0000 H:=ker(rop) Cc KXOODODODODODODOODODOOOOOOO
K*/H=Gal(L/K)O00DO0DO0O0O0 L HOOOOOOOO

{L/K|000000000 }
{HcK*|0oooooooo }
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goobbboooobobboooobbboooooo H:NL/K(LX)DDDD
OO0 KODOOoooo Gal(Kab/K)DDDDDDDDDDDDDDDDDDDDDD
KOoowvOOoooooOoO K,0OODOOooowewOOOODO K,O00ODODO 0,00
000 AK::{(av)UEHUKU|DDDDDDDDD vO0000 aveOUE}DDDD
00 (adelering) 0000000000 AxO0OO0DDOO (idele group) 0000

0O O000000000 ideal element OO0 id. el. OO0O00OO0OOOOOOO
additive idele OO OO QO OO

0000 K>z+— (- ,a,z,---) €AY 000 KOODOO K CcAXO000000DO
0Ck:=AX/KODOOOODDDOO0OO0OOO0D0000000DO p: Cx — Gal(K**/K)
00000Gal(K?/K)DDDOO K*000000000

000000000 L/KO0O00 r: Gal(K**/K) — Gal(L/K)DDDO0DDOO0O
O000rop0000 H :=ker(rop) c KXO0OODOOODOOOO0ODOO0OO0O0ODO
K*/H~Gal(L/K)0OO0O00000 L— HOOOOOOOO

{(L/K|000000000 }
{HcCkx|DDDODODOOOO }

gogobboooobooboooooboooooo H:NL/K(C'L)DDDD

5 Kronecker 0O O OO
0000000000 000000000

00 (Kronecker-Weber 000). 000000000000 K/QOODOO0O0OO0ODO
0n00000KcCQ(,) 0000

000000QUOU00DDO00DDO000O000DOooOoDO0U0ODoOo0UoOooOoOOoon
0000 K(OOOODO0OO0OU0ooooooooooo)ooooooo Km)yooooo
0000000000007 0000000000000 0O0OHilbert0O 12000
goobboooobobogoo

O0000QOOOOoog Cn:eQQiDDDDDDD nUUOO00O0O0D0OOOODODOO
OO0000000OoO00o0O0dO0OnO00DOOO0ODODOOO0ODOOOOO? ODOOOODOOO
000000000 n00000DO000O0OO0DCOODODOODOO KroneckerOOOOO
gooo
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0 1880 O O Kronecker 0 Dedekind 0 0 0 0 0O O 0O O um meinen liebsten Jugend-
traum0 (0000000000000 OO0)00000O0OOO

O0. 0000000000 224ax+b(a,b e C)00000000O0OO E =
{(z,y) eC|y? =23 +ar+b} 0 COOO00D00OO00O

a3
a3 — 27bh2
00. 0000 By, E,000000 < j(Ey) = j(Bs)

J(E) :=1728 Oy,0000000

wi,wp, € COROODDOODOOD0000A = {zwi+yw;|2,yeCl0000000
COO000D000 fO00000weADOOD f(z+w)=f(z)00000000f0
OO0 ADDDOO0OO0O0OOO WeierstraBd o 00

o(2) = +z:(z+w u;)

wEA\0

0000000000000 000000000

go == 60 j{: —» g3:=140 j{:

wEA\O wEA\O

gooo

O00. ' 000000 p? =43 —gp—-¢:00000ADDO0O0DDOODOOO0O
C(p,p')=0CDO p0 ¢ 000000000000

0000 E:={(z,y) €eC|y* =423 —gor — g3} 000000000 2z€COO
00 (p(2),9'(2)) € EU{(c0,00)} 0000000 Clas z+ar+— (p(z),9(2)) €
EU{0} (0O:=(00,00)) 0000000000000 FU{O}00000O0OO0O000O0O
0000000000000000000000000000000000000000
O0DFEU{0}0000D0O0000D00O000000FEU{0}0 EOOOO

00.0 E0O00O0D0OD End(F)00000DO0OD0O ZOOODDOOOO

End(EF)#Z0000EO0OODODOOOOOOOO

KOOOOOOOg CcKOOOODOOD (0000000000)0End(E) 2 Ok
0000000000 ED0O0OO0OOEONOOOOOO E0 0000000000
Eln] := {(z,y) € E | n(z,y) =0} 000000000000 mC O 000000
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0000 mOO0O0OoOoooOoono E[m]DDDDDDDDDDDD(m:(n)DDDD
Elm]=E[R0000)

00. E0 End(E) 20O 00000000000000000ED y? =23+ azx +
b, a,be K(j(E))OOOODOOOOO
z (AB#0000)

h(z,y):=<¢ 2> (B=0000O)
¥ (A=0000)

O WeberOOOQOQOO

00. KOODOOOOOxkO KOOOOOED End(E) 2 0000000000
00000m0O KOODOOODODOO K(m) =K((E),h(Em])000000 KO
Hilbert 000 K(j(E))000O000D0

0. K=Q:# 00000000 E:y?*=2>+200000 End(F)=Z[{ 0000
Weber 000 h(z,y) =2?0;0000 j(F)=17280000 (z1,91), (72,y2) € EO 0O
0O

2 — U1 1T2 — Y221
BT (g £ ) N2 7 T () + 29)
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